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Solution to ACROSTIC:
The acrostic clues and their answers are
Type of skiing ALPINE
Dud car LEMON
Mythical man/goat SATYR
Sydney’s house OPERA
Gentle prod NUDGE
Kimono sash OBI
Chasms RIFTS
Long lock TRESS
Stair grip HANDRAIL

Putting the clues into the grid gives the cluephrase
“SYMBOL FOR ASPARAGINE OR LETTER UNDER A

answers spell “ALSO NORTH”. Together, these give
N.

Congratulations to Keita, Quan Nguyen, and

rect answer to last week’s puzzle on our website
(http://puzzle.berkeley.edu).

This week’s puzzle is called a Sashigane, which
translates toCarpenter’s Square. Thegoal of this puz-
zle is to divide the grid into L-shaped pieces. Each L-
shaped piece must be one block wide, but can con-

tain varying numbers of squares. The circles in the
grid mean that square is the “bend” in an L-shaped
piece. If there is a number in the circle, that tells
you howmany squares in total are contained in that
piece. The arrows mark the ends of pieces. The tail
of the arrow is the end of a piece, and the arrow
points towards the bend in the piece. An L-shape
can have any number of these symbols in it, includ-
ing zero. When you have solved the puzzle, shade all

swer, which will be a single letter.
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